Rational Expression/Equation  Practice Test

Multiple Choice
____
1.
The non-permissible value(s) for the expression [image: image29.png]C (x+3(x+
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      D.  there are no restrictions
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2.
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3.
Express the product [image: image10.png]x4+ 61 x+3
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 in simplest form.
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4.
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5.
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 is equal to
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6.
Solve the rational equation [image: image21.png]


.,  A. x = 10  B. x = 4, -1  C. x = -10  D. x = -10 , -1    
Part B
1.   Simplify each expression and state any non-permissible values.
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 a.                                               .                            b.                                          c. 
2. Solve and check.:      a.  
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3
Susan can swim at an average rate of v metres per second in still water. She has two races coming up, one in a lake with no current and the other in a river with a current of 0.5 m/s. Each race is 800 m, but in the river race she swims the first half against the current and the second half with the current. 


4.
Jerry jogged 9 km in an hour. He covered the last 4 km at a speed that was 2 km/h slower than his speed over the first 5 km. What was his speed over the first 5 km?

5.
A plane flew 5200 km from London, to Montréal, on the return trip with a tailwind, the plane flew 150 km/h faster on the return trip. The total flying time from London to Montréal and back was 14.5 h. What was the flying speed from London to Montréal?

6.
Find the values of x in the numbers x, x + 1, and x + 2 such that the reciprocal of the smallest number equals the sum of the reciprocals of the other two numbers. Assume that x is positive.
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